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2. (10 pts) For each of the following graphs. determine if the relation is a function. Ifitisa

function. state whether or not it 1s 1-to-1.

1 1'-1 )
¥ » LY =
H \\ ¥
T B
\
o 2 Il| o 2 1 \'\ !
_|5 4 3 -12.\ -IL o 1 i
= \
Isita function? £\ Is 1t a function? y 29 Is it a function? Y s
If it 1s a funection. 1s 1t 1-to-17 If it 1s a function. 1s 1t 1-to-17  If 1t 1s a funetion. is 1t 1-to-17

o Y-c.;
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3. (5 pts) Determine whether or not | v+ 3-| —2x =35 defines y as a function of x. If it does not.

show/explain why not. (Solve for y and look at how many solutions you get.)

"Jl-‘!'-'lx-'-s— NO

W43 = ANES QR Yy 3 = - (2x+s)
bW v + 2 - y+3 T Ix-§
w 0 = - -
o ut Lo naas \_J_ =%
Let x 2 | Fon . Let x= |
y=20) +2 = 4 -2G)- 8

e ‘3:
So (,4) omd Cc,-w)Q

ars beth pais o Fha ackation.
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f+h)=-f(x)

4. (10pts) Let f(x)=x>+3. Simplify the difference quotient P

Flx)= %" +3
Clee- Fox) _ (x &by &3 - (x"-l-‘f}

~ h
_ @'uk F @% _ 2xh +hE
- PN W

_ WKlaxw)
= ————'y

= 2% +|,
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i ‘z and g(x)=+x-2.

X—D

5. Let f(x)=

a. (5 pts) What 1s the domain of 7

D= {xlx#s'? = (-oce, s)U(S,c0)

b. (5 pts) What is the domain of g 7

Ned ¥-220 = X22 + .9=ixlx’.23

c. (5pts) Find (£ o g)(x). (Do not simplify.) = E"' “)
96y -2 \xm2 -2
F‘F(s C\d\ ) 5&\-5’ } (k-2 = §

d. (5 pts) What is the domain of (£ o g)(x)?

8(e+9)=Tx | 168 amd 5D HENT
=f{x| xz2a “Jm#rg

Rp2LF
(k-2 =§ < N =Y 72 =
%=1 =25 < — j;
x = 2% €L 1LY

Tx[x22and x #2735 = [2,29) UG =9
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5. Let f(.x)—

— and g(x)=+x-2.

e. Determine each of the following functions (without simplifying) and state the domain of

each in interval notation.

i. (Gpts) (f+g)x) = -:-":_—:_ + Vx-

ScFeg= DE O PEG) =Tx [x45Aw =S
= ((-u,f)u(r,oo)) Q) [1.‘“)
= "') =, S\UCS‘ oo)

i (5pts) (%](x) = ( ) = P EYODH G) Q?x]-f-‘oa'#o-i

“T}_ o = ¢x [ x4 Anpx=2 Amd xm‘g
o = Sx )| x#5 AND x>2%

X2 =

*=2 = (2.9)u(ss o)
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6. (5 pts) Answer one of the following:

a. Show that f(x)= x-1 1s 1-to-1. algebraically. SJN c'\ ’= p-(;d
x+2 y - I
b. Let f(x)=>"1 Find f(x). b, ¥ = v+ L
x+2

x(y+2) =y~ |

a, Ass wnn DC\:.)=‘-‘CK,_) Y'-JO-'J-K""‘J"

QOQ« ¥=! o Xa-l
g s X+2 ¥ot ¥y=y = -2x-\

(*s*‘)(*.'h = ("a.")("v"‘l) Y (k=1 ==2x=~) _
x"x‘-x.‘,+?.¥,-1= ¥a Xy ¥ 2w, =%, =2 -2%=-) _ -
\ = - F (’i(

"'x-r‘"lﬁ." 1*.“" *'
qgl = ?“‘_

X, = K'_&
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7. (5 pts) The graph of f is given. Sketch the graph of 7.
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8. (5pts) If f vartes jomtly as m, andm, and inversely with the square of . write the

equation describing this relationship.

M, m
r = K r:

-~ MWy e 2 F Qaaur
s ~* batrreenn pfm"'sb‘
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9. Graph each of the following functions using techniques of shifting. compressing. stretching.
and/or reflecting. Start with the graph of the basic function and show all stages in separate

sketches. Track 3 key points through the transformations.
a. (5pts) h(x)=2(x—3) +3

X —= (% -351' —_— (X-!)L—-—b Q(x-g)1'4. 3

\
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b. (5pts) g(x)=+/3-x+5 (Hast—3=T=—_x+3 1sone way. 3—x=—(x—3) is another.)

.—.CE:-B%—S-

—O\(--D  +S

N=x --v~.‘(-_{';§//// %43 +S‘J

\‘ X —= \(¥x+3 —> “X+3
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3(\:\: -2\ =2we -3 = =3\ -2(x-> =73
Fo) = (% =((3FC-2(e-2)) =3 |

2
hexN= =3 (-1.10-'4\" -3=-3 (-2¢x-2) -3
= -3 £(-2(w-2)) =3

(8
Fex) =¥ : -
oy = -3\ -2+ |*-3 = -3 12y n) -3
Fexr= Lxl = -3 (-2 (x-2)) =3

L-""'S do ’(1’:
Coam V¥ —> FC-23) = N7 —™

Gl ALY
- (0.0)
Cs,0 ()
0 7' oD = < = |
-2C¥-2)
C’-p(.:&(v—t\\ —> -3 F(2 (\t—‘t\\ = =3\ r1&D
(%) (k-3

Sep 23-7:44 AM



110922-review.notebook September 23, 2011

A sequence of moves that will keep you on the right track:

1. Horizontal stretch/compress/reflect f(ax) Multiply x's by 1l/a

2. Horizontal shift f(x+a) Left a (Subtract a from x's)
3. Vertical stretchv/compress/reflect af(x) Multiply v's by a.

4. Vertical shift. Jf(x)+a Up aunits.

If you stick to this sequence of moves, you will be OK. If you mix up #3 and #4 you will NOT
be OK. If you mix up #1 and #2 you will NOT be OK.

You could do the vertical stuff first and then the horizontal. but why not just stick with what

we}fi’(&u-é.\ LJ =2 F(bixs ) « o

e F & = 2\[30ed FST
L 2 2
r = (v — "3y —= 2N30ea)

—= L\ a3x-2) +§
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| 2szle S~
2y-3 £ § a/wal Qx-??.-s‘

m—
— 2wz =2

Ave g pu—
Xz =-|

X< ¢

P RARTE AND v2-1%
= Gudl

Jae-31>8

2w-3>§ CDB 2x-3 <=5~
Lx” 8 2y e~2
x> 4 ; we —|
fx|X>V‘OR g<-l3>
-G U,
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